EAGRAROBREERT — 2 N— IBISH —F 2021548278 (K) 2EIEMH4H

PR C1— 45%4mtE (xwlw | mEmml - v 5 w8
[A&4£] 17 :800,000 8 ~ 23#%&:320,000 3 ~ 33#&:200,000H . 4 7#:120,000 M . 5 i :80,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
118l12| FIvx7HB > # o4 | DIRE- 135 22-2-1 |81 — | 2 | 4% /ﬁﬁzix (Em)
L:xrinao— B:NX—-LAT7)T (+6) pxlie]
= . _4-a_ — B
ol7l10| X1 ¥ amHL2 # o4 ;';_Egai (11'333/4?) 4-4-3-3 | 38.3 1 tg)z fg%m(ﬁm
R4 g NT—IEY Bi=lFFF A DK%
3l5lg| 7—Nrz8— H o8 S'EJ%E (11314/43 5655 [38.2| — | 3 | 508 i%ﬁé% ()
QBT IELLY b BT —Se A - 0 G e
oo 5 38 . g _ K1/
4 3| 7oK-Tz24 £ 5 5?:’;3%5 1(/34;5) 1-1-1-2 | 38.7 9 (4_545) igéééﬁm
R:FHY<71X8 BRX/IART Y G e ]
. N N 12 ARHHEE : 34— - mEftrE (EM)
s|1l1|7a=rnEYRZ 6 Ba (17.3;3) 3-3-4-4 | 38.4 4 (5:)95) EBH;'EEE
RiNZ—k1—X B:JO—/NILN— b FREHRS

- = # o6 | Af—RE 1:34.3 5-56-6 | 38.4| — 6 500 | KA ()
EE 2 IA¥X=ZN\ATI 56.0 (11/2) o) HHEEL

L:ErFOvY BT UFIU-— ESlite
L= > A2 mfEA : -8-7- - =BT ()
sl | 21 erd—F1— > 6| E# 1.(314>.5 8-8-7-7 |38.5 5 ;4_762) *uaa-{g;é(
:d—IRAMO— B:xXAHAHO0-X pccie ]
s 49 | KIFFA 1:34.9 10-10-9-9 | 38.6 | — 11 403 | WA= ()
ss| V- 0 2 1/2) (-3 | =HEES
R840 B:hITLITYL HEEA IS
“ N wEFR :34. —-8-10~ . — 7)lI¥ga (EM)
9 4 ININEL T A i o8 s 1(734t)9 9-8-10-8 | 38.6 8 (5_110) Rt
R:Grp—3IUT7> BYILTILE Y — biyatse]
4 o4 | MNEREF 1:35.0 1-11-11-11{ 38.4 | — 7 458 | AEE= (EH)
10 7 I‘#)( :‘Fﬂ"f X 56 (1/2) (0> )‘HEIIEK
Z:Z2phardNE—r BFARIAF v PIRA5
R EAEELY . _7-a_ — afEE (k)
M NECIPEE Y ESD. i 5 Ea 1.(335).5 7-7-8-10 | 39.6 10 (4_822) Em\g
RN—E>Sv— B/ ANRY v ke ]
-\ = B — - — — — EAEER (FEHH)
%[ 811 IJXA7>7Tv b Il 56.0¥ (54 <4+321) %) Z - *—
AT =) B:OAVILA 28T b LA Eae ]
@ 1—F—@&BIEf
13=zr= 3,12,1,10,(2,6),9,5,4,8,7
20—J— 3,12,1,10,2,6,9, (4,5) ,8,7
Ga=r= 3,12,10,1,6,2,5,9,8,4,7
40 —F— 12,3,10,1,6,2,5,4,8,9,7
[ RN
B OB 12 420M 714K 10-12 240M e & 7-8 360M 3ER 6-10-12 850M
% B 12 160/ 6-12 360 B & 10-12 530 JEH 12-10-6 3,540
10 110 6-10 260M B H 12-10 1,030M
6 1509

ARICOVWTRDTEEERROODE. TR LIV,



